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Academic Year

2018/2019
Level One
Social Context of
raraion i s Computing
(HUM121)
Kafrelsheikh University (60 marks) Collcge]of Computers and
2 Pages nformation
Date: 2/6/2019 Time: 180 minutes
Question number one: (30 Marks)
a. What is meant Cyberstalking, indicate its effect? (5 Marks)
b. Choose the most correct answer: (25 Marks)
1) refers to systems that support the gathering, representation, processing,
use, and dissemination of information:
a. Social b. € d. e. f. f. Computational |
Computing | Blogs | SNA | BTIN | Informatics | Globalization | Systems
2) away for following a particular user, group, or company and comment on
the progress toward the particular ideal.
[ a. Social b. c. d. e. f. f. Computational
Computing | Blogs | SNA | BTIN | Informatics | Globalization | Systems
3) A discipline of social science|that seeks to explain social phenomena
through a structural interpretation of human interaction.
a. Social b. c. d. e. f. f. Computational
Computing | Blogs | SNA | BTIN | Informatics | Globalization | Systems
4) Study of the structure, behaviour, and interactions of natural and
engineered computational systems.
a. Social b. c d. e f. f. Computational
Computing | Blogs | SNA | STIN | Informatics | Globalization | Systems
5) Distinguished by their great complexity, as regards both their internal
structure and behavior, and their rich interaction with the environment.
a. Social b. c. d. e. f. f. Computational
Computing | Blogs | SNA _STIN Informatics | Globalization | Systems
6) A network that includes people, equipment, data, diverse resources,

documents, messages, legal

resource flows.

arrangements, enforcement mechanisms and

a. Social b

Blogs

Computing

c.
SNA

d. e.
BTIN | Informatics

f.
Globalization

f. Computational
Systems

Page 1 0f2
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7) aprocess of interaction and integration among the people, companies, and
governments of different nations, driven by international trade and
investment.

a. Social b. [ d. e f. f. Computational
Computing | Blogs | SNA | STIN | Informatics | Globalization | Systems

Question number two: (20 Marks)

a. True or False with correction:

1. Dominating a culture means contribution between cultures making
the world as a global village ( )

2. One of Inconveniences of Information technology downsizing and
outsourcing business process, a lot of lower and middle level jobs
have been done away. ()

3. Technology resulted flexibility in purchasing. ()

4. The accessibility of data by the workshop manager and following
up on the customers represented one of Inconveniences of
Information technology. ()

5. indeed.com is an example of Online Recruitment Services. ( )

6. Linkedin.com made it easier for job listing portals, talented
emploYees can use these job search engines to find listed jobs. ( )

7. Tumblr is an example of blogging platforms. ( )

8. Match.com is a platforms that provide users with a way to interact
with others that have goals relating to create new relationships. ( )

9. Protectionist policies represented one of Negative Effects of
Globalization. ( )

A. Simply state some ways of using IT in: (10 Marks)

1. Customer Care Service,

2. Solving Crime.

Best Regards
Dr/ Mai R, Ibraheem
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Kafrelsheikh University Full marks: 60
Faculty of Computers & Information Date: 12 /6 /2019
Subject: Interpersonal Communication Pages (2)

Time Allowed: 3 Hours
Code: HUM132

e e

Answer the following questions

Questionl: (10 points)

Choose the correct answer:

| DU needs are the most basic level in Maslow’s hierarchy.

a. Safety b. Physical c. Belonging d. Self-Esteem
2. A telephone call may cause............ barriers.

a. Semantic b. physical C. process d. psychosocial

3. The means by which the message is expressed to the receiver............

a. context b. channel c. feed back d. noise
4. You are allowed to use abbreviations in......... ... page of the report.

a. abstract b. introduction c. conclusion d. title
5. Interactive communication is a........... process

a. one -way b. two -way c. three —way d. four —way
[T communication, each person affirms the other as cherished.

a. I-You b. I-Thou c. It d. none of the above
[/ communication means one person communicates the same message to many

people at once

a. Public b. Small group ¢. Mass d. Impersonal
8k sommensme communication is defined as communication with the self.

a. Impersonal b. Intrapersonal ¢. interpersonal d. none of the above
9. v communication is verbal communication.

a. Electronic b. Oral c. Written d. all of the above
10.Valuing ourselves and being valued and respected by othersis ............ needs.

a. belonging b. self-esteem c. safety d. physical

(s ) B Ay 3
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.. Question2:

Mark the following sentences with True or False and correct the false ones:

(10 points)

1.

) [\®]

gt B

The introduction page in report shouldn't contain page number.
Majority of our communication is through the non-verbal channels.

Decoder is the person determines whether your message was understood.

Drop-in visitors may cause semantic barriers.

Posture is one of non-verbal communication forms.

Question3:

Write the difference between:

1. Safety and physical needs of communication.

2. Instructions and description pattern of inforiuation.

Questiond:

Define:

1. BLUF.

[

LD

; Extempore speaking.
4. Jargon.

Proxemics.

w

Question5:

Explain the following:

1.

(SR I S

o

Barricrs to communication.

Elements of the communication process.

Basic steps for a successful oral presentation.

Forms of communication.

A Communication continuum

Barriers of written communication.

At cagail
AL L g
D Diana Thauvat Masa

(
(
(
(
(

(20 points)

(10 points)

(10 points)
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Kafrelsheikh University
Faculty of computers and
information

1%t Jevel Final Exam
Date: 29 /05/2019

Subject: Privacy and
Civil Liberties (C)
Time allowed: 30 min.
Marks: 60 Marks
Pages: three Pages

Choose the correct answer

[1]. whatis considered to be private differs according to .......... yass saunua eI
A) secrecy, control of personal information and personhood
B) the political, the socio-cultural and the personal level
C) the era, the society and the individual
D) All
[2]. Daniel Solove created ....... TSP RRRTON «..categories for privacy definitions
A) two B) three C) five D) six
Bl wsswsensmimimiimmen are kind of human participants that related to health research
A) Patients B) Volunteers C) Healthy volunteers D) Children
[4]. The development of computer technology makes it possible to store information without
limits to the amount, to the scope of analysis or to
A) security issues B) systematic order C) the duration of its D) storage devices
storage
[5]. -ereeceeeirsecennnnnee...defined privacy as "the right to be let alone"
A) Alan Westin B) Warren and C) Charles Fried D) Warren and
Brandeis Charles Fried
[6]. Individuals sometimes choose to remain ............ cseeisTeEeEEeE to safeguard their privacy
A) anonymous B) authorized C) login D) private
{7 P— crvesTTiers «wsecefOr the proposed project will be required, even if personal data
has been collected in the frame of previous research projects.
A) Informed consent B) permission C) data security D) accountability
[8]. Itis fairly easy today for a technically sophisticated person to remain anonymous
and avoid .......eeeeereeieiiariennn on the Internet
A) security B) visibility C) accountability D) illegibility
[9]. Data usage beyond the life of the project is possible but MuSt be ................o0ir0eres
A) monitored B} encrypted C) constant D) closely supervised
[10]. I .......cee S each user has two numeric keys—-one public and one private
A) public key system B) private key system C) Secret key system D) authentication
[L1s ssvenmonmsvsssnavennizsnsons It is an infrastructure for associating descriptions, called labels, with
documents and Web sites on the Internet.
A) CSS B) ISP C) GPL D) PICS
[12]. Web servers keep records of ....... sasomsen creseeases «.. in order to better serve the user when
he or she visits the site again
A) temp files B) data C) cookies D) history data
[13]. ceeeeiesiiissnniannee..o.checks that only properly authorized (and sometimes paid-up) users
are allowed access the database and operating systems.
A) Firewall B} Anti-virus C) Anti-spam D) Malware
[14]. technology can enable secure transactions in which ..... SR— e —_— +ese. Personal
information is revealed
A) minimal B) maximal C) average D) none
[15]. Attack vectors can be identified at .............. RO——
A) hardware B) network C) application D) All
[16]; <averavveces ssessesiennnsnalso allow a site to maintain information about the state of an
individual's interactions with that site
A) Pseudonyms B) cookies C) firewall D) spam
[17]. Notice and ........couueevnreenennnnnn. are among the most important principles of fair
information practice.
A) decisions B) choice C) opinions D) thoughts

Page1of3
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[18]. Network attacks can target the network ........ccvvveveeevenvenenns

A) protocol B) software C)Aand B D) None
[19]. The..... crensererseniseseeranes architecture is an architecture in which the cyber-security
mechanism is installed only on the local machine
A) standalone B) centralized client- C) collaborative D) None
server
[20]. coeerearrenrereranacneas ... is an application level attack
A) malware B) botnets C) spyware D) All
[2 1] s cseveereennnnns.is an example of application attack goals
A) e-mail services B) router configuration  C) files D) cookies
[22]. The collaborative architecture is implemented as a ..........ccceevieinnnnnee system
A) local B} centralized C) distributed D) operating
[23], ssmsammemsmsnsne is any malicious software that an attacker manages to run on the
target computer
A) malware B) botnets C) spyware D) Ransomware
[24]. ToT is an example of ........ . .. systems
A) security B) ecosystem C) firewall D) All
[25]. We classify the data used by security technologies into ............. eevhesrenereen
A) Application, fileand  B) application and C) files and directories D) None
network database
" [26] eeeenenn Ftasansssosse «seeses €NCTYPL a victim’s data and force victims to pay to decrypt it
A) malware B) botnets C) spyware D) Ransomware
[27]. Nowadays the significant difference in ................. sevesessen 18 that we are not only being
watched, but the information obtained about us is recorded
A) controlling B) anonymizing C) filtering D) monitoring
[28]. Internmet .......veeiriemunennnrnnens is the control or suppression of the publishing or accessing
of information on the Internet.
A) censorship B) filtering C) browsing D) accessing
[29]. The negative side of Internet ........... RN — is that they can block too much
content, keeping users from accessing useful information.
A) filters B) boosters C) browsers D) firewalls
[30]. data must be specifically stored .......... AR — ... for as long as the project lasts
A) rapidly B) solely C) Aand B D) None

True or False

[1]. Huge differences between particular societies and cultures, or scientific development can’t
lead to a different, urging need for ensuring the protection of privacy.
A) True B) False

[2]. The right to be et alone basically ensured protection against the unwanted disclosure of
private facts, thoughts, emotions.
A) True B) False

{3]. the new changes in the economy and in the society don’t led to the transformation of the
way people lived and these new changes had consequences for privacy too
A) True B) False

[4]. Fried defined privacy as “the claim of an individual to determine what information about
himself or herself should be known to others”

A) True B) False
[5]. Children is one of categories of human participants in data collection
A) True B) False
[6]. the era of the information society, has several impacts on privacy
A) True B) False
[7]. Mité Daniel Szab6, argued that “privacy is the right of the individual to decide about
himself/herself”
A) True B) False

[8]. The content of the data set doesn’t need to be according to the legal requirements of the
area where the research is planned to take place
A) True B) Faise

Page 20of 3
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[9]. In data collection, Conservation times need to be specified. Destruction methods need to be
illustrated.
A) True B) False

[10]. Data usage beyond the life of the project is possible but must be closely supervised.
A) True B) False

[11]. Applicants will need to explain the reasons behind the proposed data collection
A) True B) False

[12]. In data collection, Informed consent for the proposed project will not be required, even if
personal data has been collected in the frame of previous research projects
A) True B) False

[13]. Data should not be stored on a memory stick
A) True B) False

[14]. Data structures such as databases need to be specified
A) True B) False

[15]. In data collection, Secured access policy needs to be worked out and clearly specified
A) True B) False

[16]. In order to implement "privacy" in a computer system, we need a more precise definition
of privacy.
A) True B) False

[17}]. Password is used in systems which only demand "something you know"
A) True B) False

[18]. the most common mechanism of authentication is the fingerprint
A) True B) False

[19]. Technology can promote accountability as well as anonymity
A) True B) False

20]. Biometrics is used in systems which only demand "something you have"

[
A) True B) False

[21]. technology can facilitate the seamless exchange of information about data collectors
A) True B) False

[22] The public key allows anybody to read information hidden using the sender's private key
A) True B) False

[23]. In secret key systems, The key is shared among consenting users
A) True B) False

[24]. One way to simplify notice and choice is to provide non-standard notices with consistent
choice options.
A) True B) False

[25]. The aim of cookies is to protect networks, computers, programs, and data from attacks
and unauthorized access.
A) True B) False

[26]. An approach to safeguarding personal information is to maximize the need for collecting
such information
A) True B) False

[27]. Tt may be possible to use technology to automate the information practice audit process to
some extent.
A) True B) False

[28]. Children’s Internet Protection Act (CIPA) is an act to permit children from accessing
internet
A) True B) False

[29]. The possibility of anonymization in cyber-security is tightly related to the type of
monitored data.
A) True B) False

[30]. An Internet filter is software that can be used to block access to certain Web sites that

contain material deemed inappropriate or offensive.
A) True B) False

with my best wishes Dr: Reda M. Hussien
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Answer the following questions:
Question (1) (35 degree)
1. Find the angle between the vectors (5 degree)
A-—-3001+5.00] and B—10001+600]

2. Pos1t10n of an object movmg along x-axis is given by x = a + bt* where a =6 m, b=3
m 57 and t is measured in seconds. What is its velocity at t =0 s and t = 4 5. What is
the average velocity betweent=5sandt=7s? (10 degree)

3.

Prove that v 2= ved + 2a,(x — xp) (5 degree)

4. What the difference between Uniform and Nonuniform Circular Motions. (5 degree)

5. A player throws a ball upwards with an initial speed of 30 m s™".

1- Choose the x =0 m and t = 0 s to be the location and time of the ball at its highest
point, vertically downward direction to be the positive direction of x-axis, and give the
signs of position, velocity and acceleration of the ball during its upward, and
downward motion. 2- To what height does the ball rise and after how long does the

ball return to the player's hands? Take g = 10 m s>

(10 degree)

Please see the second part

With my best wishes
Dr. Mahmoud Saad
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Second Part Question (2): {25 degree) (2.5 degree for each question)

Choose the correct answer (if you choose None of the above, write the correct answer)

I~ A quantity described by magnitude and 2- If two forces of 20 N towards north and 12 N towards
direction both is called .......... south are acting on an object. resultant force will be
a) scalar a) 32N toward north
b) unit vector b) 29N towards north
) unit ¢) 32N towards south
d) none of above d) None of the above
3- A body starting from rest covers a distance 4- The displacement s of a point moving in a straight line
of 9 m in the fifth second. The acceleration is given by: s = 8¢ + 3t~5, °s’ being in cm and tin s.
of i%= hady is.,..... The initial velocity of the particle is...............
2) 4m/is®
b) 0.2 /s a) 16 cm/s
g b) 19 cm/s
¢) 1.8 m/s ¢) Zero
d) None of the above d) None of the above
5- Find the incorrect stateinent out of the 6- If air resistance is ignored, then the horizontal motion
following: of the oblique projectile takes place at
a) If acceleration = 0, motion is uniform
b) If acceleration = constant, acceleration is a) uni!‘orm accelerat.ion
uniform but motion not b) variable acceleration

¢) uniform retardation

- "y
¢) If acceleration constt., both acceleration and d) uniform velocity .

motion are not uniform
d) Acceleration = constt., both acceleration and
motion are uniform

7-  Which of the following is NOT an example |- 8- A particle goes from x = ~2m, y =3m, z =1m to x =3m,
of accelerated motion? =-1m, z=4m. Its displacement is
a) Vertical component of projectile motion ;) (lm):f' + 22‘“):1': §5m):k
b) Circular motion at constant speed ) (5m)~(4m)’j + (3m) "k

9 =(5m)"i + (4m)"j —-(3m) "k

¢) A swinging pendulum d) —(Im)"i—Cm)j —(5m) "k

d) Horizontal component of projectile motion

9. A stoneis thrown upwards with initial 10. The velocity of a body depends on time according to
velocity of 20 m 5™, height that stone will the equation u =20 + 0.1¢, The body is
reach would be undergoing.....,
2) 30m a) Uniform acceleration
b) 40m b) Uniform retardation
o S0m ¢) Non-uniform acceleration
d) None of the above d) Zero acceleration

End of the test With my best wishes Dr. Mahmoud Saad
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Subject: Digital Circuits Pages (2)
Time Allowed: 3 Hours
Code: EE102
Answer the following questions
(12 point)

(a) Implement a half adder circuit with a decoder and OR gate.
(b)Construct 4 * 16 decoder with two 3 * 8 decoders.

(c) Draw the logic diagram of a line decoder using NAND gate for the Boolean
Function: F (X,Y,Z) = Y. (0,2,5,7).

£ s (12 point)
" (a) Construct a 8 x 1 multiplexer with two 4 x 1 and one 2 x 1 multiplexers. Use
block diagrams.

(b) Construct 8*1 a multiplexer that implement the following Boolean function:
F(A,B,C,D)== ) (1,3,4,11,12,13,14,15).

(©) Design truth table for the following A four-to-one-line multiplexer:

To —-—-———\
I R
I: MIUX E———— big
) SO
5o &
(12 point)
A combinational circuit has four inputs A, B, C and D and one output
F. The output is equal to 1 if the three binary values of successive
inputs are same.
(a) Design truth table.
(b)Draw the K-map and minimize.
(c) Implement using Nand gate only.
(12 point)

(a) Simplify the following Boolean function:

FA,B,C,D)=:2m(0,1,2,5,8,9,10) + 2d(12) into:

1) Sum-of-products form.




image17.jpeg
2) Products-of-sum form.
(b)Prove that (A (AB))' + (B (AB)")'= A'B + AB'.
(c)Implement half adder using Nand gate only.

Juesiion (12 point)
(a) Modify the following block diagram to represent binary adder and binary
Subtractor.

e lbe] FA - FA = FA FA

| | } !

83 5 8 So

(b)Implement 32 x 8 ROM with 5 * 32 decoder and 8 OR gates.
(c) Design truth table that represents the following SR Latches.

S {set T
{set) o
E:Wv——: f
) mj“““@
R {reset) T o’
ALl gl
b gl (il g
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Department of Computer Science

NAVENSIE
Final Exam of ;
Programming Fundamentals (CS141)
2018/2019 (second term)

Date: 22/5/2019
Time: 3hrs

uestion (3) Write the output of the programs in console of C#Net. (12 Marks)

*) Console.Write("n = );

N OUTPUT
int n = int.Parse(Console.ReadLine(});

Console Write(™m = *); LR
int m = int.Parse(Console.Readtine()); m=16
int num = n;

long product = 1;

do

{

product ¥ = (num/2)
num = num-+4;
} while (num <= m);

Console. WriteLine("product[n...n] = * + product);

B) ©
static void Main(string[] args) static void Main(string[] args)
{ {
int x; int i3
o int b = 8, a = 32;
for (x = 1; x <= 3; xt++} for (i = @; i <= 1@; i++)
{ {
) § i
int § =13 zf ({a / b * 2y==2)
@ Console.briteline( i + " ");
{ continue;
I+ 3

. - else if (i 1= 4)

jwhile (x % j == 2); Console.Write(i + ™ ");
Console.Writebine{x + * " + §); else

} break;

3

Console.Readline(); I —

-

OUTPUT OUTPUT

With best wishes with

success;

) Dr. Osama M. Abu Zaid

Qo 5151299
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Kafrelsheikh University Mathematics 11 Time: 3 Hours
Faculty of Computers& Information First year
The second semester exam. (2018-2019) Date : 26-5-2019

Answer the following questions

1.2 17
1- (a) Express Lﬁ as the sum of its partial fractions.
(x+2D(x+1)°
(b) Find the sum of the geometric series
8=t 2 = L

where there are 5 terms in the series

2- Find the Maclaurin series for f(x) =cosx .

R
(b) Does the serlesZ— converge or not ?
n=1 1

3-(a) Find the angle between the vectors
a=2+3j+5k , b=i-2j+3k
(b) Find the sum of the following series

il:l‘Tl‘TLJrl .......

4- Find the general solution of the differential equation
b1,
dx  x y=H

1 2
5- (a) Calculate the inverse of 4 :[ _]
3 -5

3 7

(b) Find the value of x for the linear equation =
2x+1) 4 (2x+1)

With my best wishes
Prof. Dr. Osama Abo-Seida




